15 -ാം കേരള നിയമസഭ

8 -ാം സമ്മേളനം

നക്ഷത്ര ചിഹനം ഇല്ലാത്ത ചോദ്യം നം. 3571

<u>02-03-2023 - ൽ മറുപടിയ്</u>ക്

സാങ്കേതിക സർവകലാശാലയിലെ സ്റ്റാൻഡിംഗ് കൗൺസൽ, ലീഗൽ അഡ്വൈസർ

	ചോദ്യം	ഉത്തരം			
	ശ്രീ. അൻവർ സാദത്ത്	ഡോ. ആർ. ബിന്ദു (ഉന്നതവിദ്യാഭ്യാസ-സാമൂഹ്യനീതി വകുപ്പ് മന്ത്രി)			
(എ)	എ.പി.ജെ. അബ്ദൾ കലാം സാങ്കേതിക ശാസ്ത സർവകലാശാലയിൽ സ്റ്റാൻഡിംഗ് കൗൺസൽ നിയമനം നടന്നിട്ടുണ്ടോ; നിലവിലെ സ്റ്റാൻഡിംഗ് കൗൺസൽ ആരെന്നും പ്രസ്തുത നിയമനത്തിനായുള്ള സർവകലാശാലാ നോട്ടിഫിക്കേഷന്റെയും അനുബന്ധ നടപടികളുടെയും വിശദാംശം നൽകമോ;	(എ)	06-03-2019 ലെ PROCEEDINGS NO:- KTU/A/58/2015 ഉത്തരവ് പ്രകാരം എപിജെ അബ്ദൃൾകലാം സാങ്കേതിക ശാസ്ത്യ സർവകലാശാലയിൽ അഡ്വ. എൽവിൻ പീറ്റർ.പി.ജെ - യെ സ്റ്റാൻഡിംഗ് കൗൺസിൽ ആയി നിയമിചിട്ടുളളതാകുന്നു. പ്രസ്തുത നിയമനത്തിനായുളള ഓഫീസ് നടപടിക്രമത്തിന്റെ പകർപ്പം നിയമന ഉത്തരവിന്റെ പകർപ്പം അനുബന്ധമായി ചേർക്കുന്നു.		
(ബി)	സർവകലാശാല സ്റ്റാറ്റ്യൂട്ട് അധ്യായം (7) ഭാഗം (VII) ഖണ്ഡിക (23) ൽ നിഷ്കർഷിച്ചിരിക്കുന്ന പ്രകാരമുള്ള റിപ്പോർട്ട് സ്റ്റാൻഡിംഗ് കൗൺസൽ സിൻഡിക്കേറ്റിന് സമർപ്പിച്ചിട്ടുണ്ടോ; എങ്കിൽ പ്രസ്തുത റിപ്പോർട്ടുകളുടെ പകർപ്പ് ലഭ്യമാക്കാമോ;	(ബി)	୭ଥ୍ଲ		
(സി)	ഇല്ലായെങ്കിൽ നിലവിലെ സ്റ്റാൻഡിംഗ് കൗൺസൽ നാളിതുവരെ നടത്തിയ എല്ലാ നിയമ വ്യവഹാരങ്ങളുടെയും പ്രസ്തത വ്യവഹാരങ്ങൾക്കായി നൽകിയ ബില്ലിന്റെയും അനുവദിച്ച ഫീസിന്റെയും ഉൾപ്പെടെയുള്ള വിശദാംശവും രേഖകളും ലഭ്യമാക്കാമോ;	(സി)	അനുബന്ധമായി ചേർത്തിരിക്കുന്നു.		
(ഡി)	ഏറ്റവും ഒടുവിലായി സ്ഥാനമൊഴിഞ്ഞ മുൻ സ്റ്റാൻഡിംഗ് കൗൺസലിന് നിയമ വ്യവഹാരങ്ങൾക്കായി നൽകിയ ബില്ലിന്റെയും അദ്ദേഹത്തിന് അനുവദിച്ച ഫീസിന്റെയും ഉൾപ്പെടെയുള്ള വിശദാംശവും രേഖകളും ലഭ്യമാക്കാമോ;	(ഡി)	അനുബന്ധമായി ചേർത്തിരിക്കുന്നു.		
(<u>p</u>)	സാങ്കേതിക സർവകലാശാലയിൽ നിലവിലുള്ള ലീഗൽ അഡ്വൈസറിന് വേതന ഇനത്തിലും മറ്റ ഫീസ് ഇനത്തിലും അനുവദിച്ച ഇകയുടെ വിശദാംശവും അദ്ദേഹത്തിന്റെ സേവന വേതന കരാർ ഉൾപ്പെടെയുള്ള രേഖകളും ലഭ്യമാക്കാമോ?	(<u>m</u>)	എ.പി.ജെ അബ്ദൂൾ കലാം സാങ്കേതിക ശാസ്ത സർവകലാശാലയിൽ ലീഗൽ അഡ്വൈസർ ആയി നാളിതുവരെ ആരെയും നിയമിച്ചിട്ടില്ല. എന്നാൽ ലീഗൽ & സർവീസ് കൺസൾറ്റന്റിനു വേതന ഇനത്തിലും മറ്റ് ഫീസ് ഇനത്തിലും അനുവദിച്ച		

	<u>ത</u> കയുടെ	വിശദാംശങ്ങൾ	അനുബന്ധമായി	
	ചേർക്കുന്നു.			

സെക്ഷൻ ഓഫീസർ

MINUTES OF THE THIRD MEETING OF THE SYNDICATE OF APJ ABDUL KALAM TECHNOLOGICAL UNIVERSITY HELD ON 4th FEBRUARY 2019 AT 10.30 P.M.

The third meeting of the Syndicate of the APJ Abdul Kalam Technological University was held in the Conference Hall of the University on Monday, 4th February 2019 at 10.30 p.m. The following members were present.

- Dr. Usha Titus IAS, Vice Chancellor, APJ Abdul Kalam Technological University & Principal Secretary, Higher Education Department, Govt. of Kerala
- 2. Shri. James Raj, Addl. Secretary, Higher Education Department, Govt. of Kerala
- 3. Shri. Ferold Xavier, Addl. Secretary, Finance Department, Govt. of Kerala
- 4. Dr. Sudha T., Principal, NSS College of Engineering, Palakkad
- 5. Dr. Indira Devi K. P., Director, Technical Education Dept., Government of Kerala.
- 6. Dr. Mohandas V. P., Professor, Mechanical Engg., Govt. Engg. College, Thrissur.
- 7. Dr. P. Sureshkumar, Director, IHRD
- 8. Dr. Radhakrishna G. Pillai, Professor, Dept of Life Sciences, Calicut University
- 9. Dr. J. Sreekumar, Dean(Academic), APJ Abdul Kalam Technological University
- 10. Dr. Vrinda V. Nair, Dean (Research) APJ Abdul Kalam Technological University
- 11. Sri. Rahul Ravi R., B.Tech. student, GEC, Thrissur
- 12. Dr. G.P. Padmakumar, Registrar, APJ Abdul Kalam Technological University

the

The Vice Chancellor was in the Chair and she welcomed all the members to the second meeting of the Syndicate.

The Agenda items were then taken for discussion.

Agenda Item No. S- 003 -001: Approval of the Minutes of the second meeting of the Syndicate (S- 002) held on 17th November, 2018

The Minutes of the second meeting of the Syndicate was approved with modification.

Agenda Item No. S -003-002: Action Taken Report of S- 002

The Syndicate endorsed the Action Taken Report of S-002.

Agenda Item No. S - 003 - 003 : Mode of remittance of Fee for Applications submitted under the RTI Act, 2005 and for copies of documents

After deliberation the syndicate decided to issue orders for confining the mode of remittance of RTI fee due to the University as follows

- 1. By Demand Draft or Postal Order drawn in favour of the Finance Officer, APJAKTU
- Online remittance to University Account No. 67296754815 at State Bank of India, Engineering College Branch, Thiruvanathapuram (IFS Code: SBIN0070268).

<u>Item No. S - 003 - 004 :</u> Question paper interchange issue reported from TKMIT.

The Syndicate discussed the matter in detail and concluded that the incident was happened due to the serious lapse of the invigilator in the examination hall. Hence, decided to impose a penalty of Rupees One lakh on the institution. It was also decided to give a chance to the eight affected students to write the concerned subject in the forthcoming examination without charging the examination fee.

Item No. S - 003 - 005: Issues regarding mistakes in assigning barcodes

The Syndicate decided to circulate an instruction sheet to the invigilators and candidates regarding the procedures to be followed for filling the required information in the answer books. Decision was also taken to conduct training programmes to the faculty in three zones for imparting awareness about the examination management system of the University.

Zilling .

Ine

<u>Item No. S - 003 - 006</u>: Readmission of Sri Muhammad Fayis- Ratification

The Syndicate ratified the action of the Vice Chancellor to readmit Sri Muhammad Fayis to S1 Civil Engineering in NSS College of engineering Palakkad. After deliberation it was decided that no fine shall be collected from the institution since there were some technical issues in the e-governance portal of the University regarding the readmission process.

<u>Item No. S - 003 - 007</u>: Approval of the Graduates Attributes of the University

The Syndicate approved the Graduate Attributes of the University which was recommended by the Academic Council.

<u>Item No. S - 003 - 008</u>: Report on Academic Audit.

It was decided to conduct one training programme for the Academic auditors before the commencement of the next AY to ensure uniformity in audit. The syndicate has directed to form a subcommittee of the Academic Council to review the Academic audit reports and to suggest suitable modifications in the Academic audit pattern. It was opined that the subcommittee has to explore the possibility of limiting the Academic audit once in a year to accredited colleges and also to allot two days for each Academic audit to institutions having more UG and PG programmes

$\underline{\text{Item No. S} - 003 - 009:} \qquad \text{Budget for the year 2019-20}$

The members of the Syndicate demanded more time for the detailed study of the proposed budget for the year 2019-20. It was decided to constitute a four member subcommittee of the Syndicate with Dr. Mohandas V. P. as the convenor and Dr. Radhakrishna G Pillai, Dr. Sudha T. and Sri. C. C. Udayan (Finance Officer) as members. Hence, the item was deferred to consider in the next meeting of the Syndicate in March first week.

<u>Item No. S - 003 - 010</u>: Audit report of Local Fund Audit Department for the year 2014-15 and replies to the Audit report.

The members of the Syndicate demanded more time for the detailed analysis of the audit report and directed the subcommittee with Dr Mohandas V. P. as the convenor and Dr. Radhakrishna G Pillai, Dr. Sudha T. and Sri. C. C. Udayan (Finance Officer) as members to study and present a report on Audit report along with the proposed budget. Hence, the item was deferred to consider in the next meeting of the Syndicate in March first week.

-- 138×51--

Jane -

Item No. S – 003–011: Annual Report and Accounts for the year 2017-18

The item was deferred to consider in the next meeting of the Syndicate in March first week.

Item No. S-003-012: Affiliation fee of institutions for the Academic year 2018-19 The Syndicate approved the direction of the 8^{th} meeting of the BoG regarding the remittance of affiliation fee for the Academic Year 2018-19. Hence it was decided not to impose fine to the institutions which remit the balance affiliation fee before 31/12/2018 and to impose a fine of Rupees Fifty thousand to the institutions before 31/3/2019. It was directed to publish the list of colleges in the website of the University whose balance affiliation fee is pending with a direction to remit the fee before 31/3/2019 failing which, the affiliation for the Academic year 2019-20 will be withdrawn.

<u>Item No. S - 003 - 013</u>: Proposal for approval of conducting and officiating charges for various intercollegiate tournaments.

The Syndicate approved the proposal regarding conducting and officiating charges for organising various intercollegiate tournaments with retrospective effect.

<u>Item No. S - 003 - 014</u>: Rajadhani Institute of Engineering and Technology-Review of fine imposed for admitting students from North-East without prior permission of DTE

The Syndicate reviewed the decision taken in the last meeting as directed by the 8th meeting of the BoG and decided to reduce the fine imposed on the institution from 10 lakh to 5 lakh.

Item No. S – 003 – 015: Affiliation process for 2019-20 – Affiliation of institutions offering UG/PG programmes in Engineering & MBA, MCA, Architecture and Hotel Management

The Syndicate approved the proposed schedule of Affiliation process for the AY 2019-20. It was decided to follow the existing affiliation fee structure for the time being. Decision was also taken to obtain financial guarantee from all the institutions since the institutions are now affiliated to KTU only and they can transfer the financial guarantee from the parent university to KTU.

J. S. Wender

Jane ,

Item No. S – 003–016: e-Governance system – Development and maintenance on time and material basis for one year- sanction additional resources

Based on the minutes of the meeting of the Vice Chancellor withM/s KELTRON and the Development team the Syndicate has granted sanction to allot 12 more resources (6 senior resources and 6 junior resources) to the development team of M/s KELTRON to complete the development of the immediate requirements to be incorporated in the e—Governance portal of the University. This arrangement is approved till July 2020 only.

<u>Item No. S - 003 - 017</u>: e- Governance system - Proposal for constituting an IT development team of the University.

The Syndicate approved the proposal for constituting an IT development team of the University and granted sanction to recruit a 10 member team on contract as proposed by giving advertisement and following the procedures as per rule

<u>Item No. S - 003 - 018</u>: Proposal for Software defined Data Centre for the University

The Syndicate approved the proposal for establishing the Software defined Data Centre for the University for an estimated cost of 260 lakh. The Syndicate accorded sanction to procure the various items by inviting competitive tenders as per rule.

The Syndicate deliberated on the matter and has directed to prepare a detailed regulation for the promotion to the various posts of non-teaching category. Hence the matter was deferred.

Item No. S - 003 -020: Any Other Matter

1) Appointment of Standing Counsel for the University

The present standing Council of the University Adv. Krishnamoorthy was appointed in 2015 and he has completed 4 years in that position. Hence, the Syndicate decided to appoint 'Adv. Elvin Peter P. J., Sarene Castle, Pidiyancheril House, Perumanoor" as the Standing Counsel of the University.

SALIL

The

2) Course repeat in multiple courses

Sri. Rahul Ravi, student member has pointed out that there are students with course repeat in multiple courses and it is not possible to schedule classes for these students within the frame work of regular time table. After deliberation the syndicate directed to consider the matter during the implementation of new curriculum from the AY 2019-20.

3) Issues regarding minimum Internal Mark

Sri. Rahul Ravi, student member has pointed out that the University has prescribed minimum internal mark for each course in order to be eligible for appearing for the end semester examination and many engineering colleges are using this as a tool to harass the students. The member demanded to withdraw the minimum internal mark criterion. The syndicate decided to consider the matter during the implementation of new curriculum.

4) Grace Mark for Sports Activity

Sri. Rahul Ravi, student member brought to the notice of the Syndicate that all other Universities in the State are granting grace mark for the students who achieves Medals in sports and games activities at different levels and demanded to follow the same procedure in KTU also. The syndicate has directed to consider the matter in the next Academic Concil meeting..

5) Manual for Cultural and Technical Fest

Sri. Rahul Ravi, student member brought to the notice of the syndicate the necessity of preparing a manual for Cultural and Technical Fest for the University. The Syndicate in principle accepted the matter and directed to consider the same after the first state come in exsitance.

6) Duty leave for students

Sri. Rahul Ravi, student member has pointed out that currently the University is not granting Duty leave to the students representing the College/University in Sports activity, NSS programme, College Union Activity etc. Hence, demanded to grant duty leave for the students participating in such activities. The Syndicate directed to place the matter in the nexet meeting of the Academic Council.

- 300m

Jens -

7) Staff Strength of the University

As per the demand from the member Dr. Radhakrishna G Pillai, the entire list of the current staff of the University including the permanent, deputation, contract and daily wages was placed for discussion. After deliberation the Syndicate concluded that the current staff strength is so inadequate to carry out the day to day activities of the University and directed to represent the matter before the Government for creating more posts. The Syndicate ratified all the appointments on contract and daily wages made by the Vice Chancellor till date for the smooth functioning of the University. The Syndicate also decided to extend the contract appointment of Sri. Gopakumaran Nair and Smt. Gracy Joseph for one more year.

7) Progrees of starting new Departments of the University

The member Dr. Radhakrishna G Pillai, has brought to the notice of the Syndicate the need for starting the Departments in the University. The Syndicate after deliberation directed the Dean (Academic) to prepare a proposal for starting 5 departments in the University with the recommendation of the Academic Council.

7) Implementing Group Insurance scheme for the Students of the University

Dr. K. P. Indiradevi, the Director of Technical education has pointed the necessity of implementing a Group Insurance scheme for the students of the affiliated institutions. The syndicate entrusted the Registrar to prepare a proposal for the same and place it in the next meeting of the Syndicate.

Registrar

Vice Chancellor

APJ Abdul Kalam Technological University Thiruvananthapuram

PROCEEDINGS

APJ Abdul Kalam Technological University - Decision of the Syndicate-Appointment of Adv. Elvin Peter P J, Serene Castle, Pidiyancheril House, Perumannoor as the new Standing Counsel of the University-Implemented-Orders issued

ADMINISTRATION

PROCEEDINGS NO: KTU/A/58/2015 Thiruvananthapuram, Dated: 06.03.2019

- Read:- 1. Office Proceedings No:KTU/A/58/2015 Dated 25.04.2015
 - 2. Item No.S-003-020-1 of the minutes of the third meeting of the Syndicate held on 04.02.2019.
 - 3. Minutes of the meeting of the Syndicate held on 04.02.2019

ORDER

Vide paper read as 1 above, Adv. S. Krishnamoorthy was appointed as Standing Counsel of APJ Abdul Kalam Technological University from 21.1.2015.

Vide item referred as 2 above, Syndicate at its meeting held on 04.02.2019, decided to terminate the service of Adv. S. Krishnamoorthy as the standing counsel of the university as he has already completed 4 years and resolved to appoint Adv. Elvin Peter. P.J., Serene Castle, Pidiyancheril House, Perumannoor as the new Standing Counsel of the University.

After considering the matter in detail sanction has been accorded by the Hon'ble Vice Chancellor for the appointment of Adv. Elvin Peter. P.J., Serene Castle, Pidiyancheril House, Perumannoor as the Standing Counsel of APJ Abdul Kalam Technological University in Hon'ble High Court of Kerala, other Courts and Commissions with effect from the date of this order.

The terms and conditions towards remuneration and other matters of the Standing Counsel will be issued separately.

Orders are issued implementing the decision of the Syndicate.

Sd/-

Dr PADMAKUMAR G P * Registrar

Copy

- 1. Adv. Elvin Peter P J, Serene Castle, Pidiyancheril House, Perumannoor (Standing to Counsel)
 - 2. Adv.S. Krishnamoorthy, 39/468, Monastry Road, Karikkamuri, Cochin-682011 (Previous Standing Counsel)



* This is a computer system (Digital File) generated letter. Hence there is no need for a physical signature.

			to Adv.Elvin Peter.	P.J, Standing
	C	ounsel of	the University	
	F1 . N	Date of		Amount sanctioned
	File No.	Order	Total Bill Amount	after tax Deduction
	2019			
1	KTU/ASST2(ADMIN)/5674/2019	18.09.2019	1,49,600	1,34,640
2	KTU/ASST2(ADMIN)/5674/2019	23.09.2019	1,10,000	99000
3	U.O.No. 397/2019/KTU	22.10.2019	1,45,200	1,30,680
4	U.O.No. 577/2019/KTU	19.11.2019	35,200	31,680
5	U.O.No. 862/2019/KTU	30.12.2019	34,800	31,320
	2020			
1	U.O.No. 579/2020/KTU	22.03.2020	1,14,400	1,02,960
2	U.O.No. 580/2020/KTU	22.03.2020	39,500	35,500
3	U.O.No. 1333/2020/KTU	25.09.2020	3,76,500	3,38,850
4	U.O.No. 1448/2020/KTU	22.10.2020	6,07,200	5,46,480
5	U.O.No. 1631/2020/KTU	23.11.2020	8,32,600	7,48,800
6	U.O.No. 1625/2020/KTU	23.11.2020	2,43,600	2,19,240
7	U.O.No. 1713/2020/KTU	09.12.2020	8,800	7,920
8	U.O.No. 1776/2020/KTU	21.12.2020	4400	3960
	2021			
1	U.O.No. 45/2021/KTU	11.01.2021	4400	3960
2	U.O.No. 106/2021/KTU	20.01.2021	13200	12210
3	U.O.No. 325/2021/KTU	19.02.2021	4400	4070
4	U.O.No. 469/2021/KTU	15.03.2021	8800	8140
5	U.O.No. 580/2021/KTU	31.03.2021	4400	4070
6	U.O.No. 183/2021/KTU	28.01.2021	4400	4070
7	U.O.No. 732/2021/KTU	04.05.2021	42700	38430
8	U.O.No. 743/2021/KTU	05.05.2021	16500	14850
9	U.O.No. 937/2021/KTU	17.06.2021	5500	4950
10	U.O.No. 977/2021/KTU	24.06.2021	60300	54270
11	U.O.No. 1045/2021/KTU	05.07.2021	1,51,400	1,36,260
12	U.O.No. 1369/2021/KTU	02.09.2021	1,70,600	1,53,540
13	U.O.No. 1204/2021/KTU	05.08.2021	13200	11880
14	U.O.No. 1535/2021/KTU	28.09.2021	4,30,400	3,87,360
15	U.O.No. 1792/2021/KTU	02.11.2021	3,91,000	3,51,900
16	U.O.No. 2077/2021/KTU	10.12.2021	18,65,900	16,97,000
	2022			
1	U.O.No. 397/2022/KTU	27.02.2022	57000	52,000
2	U.O.No. 821/2022/KTU	07.04.2022	66000	60,000



3	U.O.No. 1015/2022/KTU	02.05.2022	16,03,200	14,60,000			
4	U.O.No. 1127/2022/KTU	14.05.2022	1,01,200	92,000			
5	U.O.No. 1286/2022/KTU	01.06.2022	60,300	55,000			
6	U.O.No. 1467/2022/KTU	19.06.2022	8,800	8000			
7	U.O.No. 1563/2022/KTU	01.07.2022	17600	16000			
8	U.O.No. 2076/2022/KTU	26.08.2022	23,100	21,000			
9	U.O.No. 2226/2022/KTU	13.09.2022	17600	16000			
10	U.O.No. 2371/2022/KTU	23.09.2022	16,656	16,656			
11	U.O.No. 2469/2022/KTU	03.10.2022	326700	297000			
12	U.O.No. 2701/2022/KTU	22.10.2022	326700	297000			
13	U.O.No. 3074/2022/KTU	16.12.2022	11,000	9,900			
14	U.O.No. 3090/2022/KTU	19.12.2022	5,36,800	4,88,000			
15	U.O.No. 3075/2022/KTU	16.12.2022	96,800	88000			
	20	23					
1	U.O.No. 48/2023/KTU	05.01.2023	30,800	26200			
			Rs.91,89,156	Rs.83,20,746			
		Rs.83,20,746(Eighty Three Lakh Twenty					
	Total Amount	Thousand Seven Hundred and Forty Six					
	sanctioned	Only)					

File Ref.No.KTU/ASST7(ADMIN)/619/2022

APJ Abdul Kalam Technological University Thiruvananthapuram

Abstract

APJ Abdul Kalam Technological University - Professional Charges of Adv. Elvin Peter. P. J , Standing Counsel for the year 2022 -Payment Sanctioned - Orders Issued.

ADMINISTRATION

U.O.No. 775/2022/KTU

Thiruvananthapuram, Dated: 31.03.2022

Read:-1.University Order No. KTU/A/58/2015 dated 31/8/2019.

2.Professional Bills bearing Nos .58 to 74 submitted by Adv. Elvin Peter PJ, Standing Counsel.

ORDER

Vide paper read (1) above, Adv. Elvin Peter. P. J , was appointed as the Standing Counsel of APJ Abdul Kalam Technological University at the High Court of Kerala and the remuneration for his services were fixed.

Vide paper read (2) above, Standing Counsel has submitted the certified copies of Judgements and his Professional bills towards his appearances in Hon'ble High Court of Kerala, drafting and filing of Counter Affidavit and clerical charges as detailed in the following table.

SL No (1)	(2)	Case No & Number of appearances (3)	effective	Rate of filing Statements/Counter Affidavit (5)	Clerical & Miscellaneous Expenses (6)	Admissible Amount (7)
1	Bill No.58 dated.23.02.2022	W.P.(C) No.30782 of 2021 (No. of Appearance :8)	8*4000=32,000/-		3,200/-	35,200/-
2.	Bill No.59 dated.05.03.2022	W.P.(C) No.8899 of 2020 (No. of Appearance 21)	21*4000=84000	4*5000=20000	10400+2000=12400	1,16400/-
3	Bill No.60 dated.05.03.202	W.P.(C) No.10084 of 2020 (No. of	21*4000=84000 5	4*5000=20000	10400+2000=12400	116400/-

7110049/2022/H	EDM	ī	File No. HEDN	N-J3/46/2023-HEDN	I (Computer No. 23631	l 47)	4_
7110048/2023/H	EDN		Appearance		The state of the s		
	4	Bill No.61 dated.05.03.202	21) W.P.(C) No.9340 of 2020 (No. of Appearance 20)	20*4000=80000	4*5000=20000	10000=2000=12000	112000/-
	5	Bill No.62 dated.05.03.2022	W.P.(C) No.7561 of 2020 (No. of Appearance :20)	80,000/-	4*5000=20,000	10,000+2000=12,000	1,12,000/-
	6	Bill No.63 dated.05.03.2022	W.P.(C) No.8542 of 2020 (No. of Appearance :21)	21*4000=84,000	4*5000=20,000	10,400+2000=12,400	1,16,400/-
	7	Bill No.64 dated.05.03.2022	W.P.(C) No.8335 of 2020 (No. of Appearance :22)	22*4000=88,000	6*5000=30,000	11800+2000=13,800	1,31,800/-
	8	Bill No.65 dated.05.03.2022	W.P.(C) No.9247 of 2020 (No. of Appearance :21)	21*4000=84,000	4*5000=20,000	10,400+2000=12,400	1,16,400/-
	9	Bill No.66 dated.05.03.2022	W.P.(C) No.9151 of 2020 (No. of Appearance :21)	21*4000=84,000	4*5000=20,000	10,400+2000=12,400	1,16,400/-
	10	Bill No.67 dated.05.03.2022	W.P.(C) No.10919 of 2020 (No. of Appearance :21)	21*4000=84,000	2*5000=10,000	9400+2000=11,400	1,05,400/-
	11	Bill No.68 dated.05.03.2022	W.P.(C) No.8364 of 2020 (No. of	20*4000=80,000	4*5000=20,000	10,000+2000=12,000	1,12,000/-

			File No. HEDN	I-J3/46/2023-HEDN	(Computer No. 23631	47)	
7110048/2023/H	EDN		Appearance				
٠ ٠			:20)				
	12	Bill No.69 dated.05.03.2022	W.P.(C) No.34396 of 2020 (No. of Appearance :14)	14*4000=56,000	2*5000=10,000	6,600+2000=86,00	74,600/-
	13	Bill No.70 dat ed .05.03.2022	W.P.(C) No.8305 of 2020 (No. of Appearance :21)	21*4000=84,000	4*5000=20,000	10,400+2000=12,400	1,16,400/-
•	14	Bill No.71 dat ed .05.03.2022	W.P.(C) No.9342 of 2020 (No. of Appearance :21)	21*4000=84,000	4*5000=20,000	10,400+2000=12400	1,16,400/-
	15	Bill No.72 dated.05.03.2022	W.P.(C) No.9342 of 2020 (No. of Appearance :18)	18*4000=72,000	2*5000=10,000	8,200+2000=10,200	92,200/-
	16	Bill No.73 dated.05.03.2022	W.P.(C) No.2990 of 2022 (No. of Appearance :2)	2*4000=8000		800	8,800/-
	17	dated.05.03.2022	Appearance :1)	1*4000=4000		400	4,400/-
Sub Total		tal	1172000	260000	171200	1,603,200/-	

The details of the bills are verified with the details of case proceedings published in the website of Hon'ble High Court of Kerala and the sanction is therefore accorded for the drawal of Rs.1,603,200 (Rupees Sixteen Lakh Three Thousand and Two Hundred only) and payment of Rs.14,60,000/- (Rupees Fourteen Lakh and Sixty Thousand Only) to Adv. Elvin Peter, the Standing Counsel of the university, after deducting TDS of Rs.1,43,200/-(Rupees One Lakh Forty Three Thousand and Two Hundred Only) as per section (J) of Income Tax Act 1961.



7110048/2023/H EDN

The expenditure regarding the same will be met from the Head of Account 'J-01-013 - Legal Expenses' provided in the University Budget.

Orders are issued accordingly.

Sd/-

Dr.A. Praveen *
Registrar

Copy to:-

- 1. Accounts Section
- 2.Adv.Elvin Peter
- 2. KSAD

Forwarded / By Order

Section Officer

* This is a computer system (Digital File) generated letter. Hence there is no need for a physical signature.

File Ref.No.KTU/ASST7(ADMIN)/619/2022

APJ Abdul Kalam Technological University Thiruvananthapuram

Abstract

APJ Abdul Kalam Technological University - Professional Charges of Adv. Elvin Peter. P. J , Standing Counsel for the year 2022 -Payment Sanctioned - Orders Issued.

ADMINISTRATION

U.O.No. 1015/2022/KTU

Thiruvananthapuram, Dated: 02.05.2022

Read:-1.University Order No. KTU/A/58/2015 dated 31/8/2019.

2.Professional Bills bearing Nos .58 to 74 submitted by Adv. Elvin Peter PJ, Standing Counsel.

ORDER

Vide paper read (1) above, Adv. Elvin Peter. P. J , was appointed as the Standing Counsel of APJ Abdul Kalam Technological University at the High Court of Kerala and the remuneration for his services were fixed.

Vide paper read (2) above, Standing Counsel has submitted the certified copies of Judgements and his Professional bills towards his appearances in Hon'ble High Court of Kerala, drafting and filing of Counter Affidavit and clerical charges as detailed in the following table.

SL No (1)	Bill No& Date (2)	Case No & Number of appearances (3)	Rate of effective Appearances (4)	Rate of filing Statements/Counter Affidavit (5)	Clerical & Miscellaneous Expenses . (6)	Admissible Amount (7)
1	Bill No.58 dated.23.02.2022	W.P.(C) No.30782 of 2021 (No. of Appearance :8)	8*4000=32,000/-		3,200/-	35,200/-
. 2.	Bill No.59 dated.05.03.2022	W.P.(C) No.8899 of 2020 (No. of Appearance 21)	21*4000=84000	4*5000=20000	10400+2000=12400	1,16400/-
3	Bill No.60 dated.05.03.202	W.P.(C) No.10084 of 2020 (No. of	21*4000=84000 9	4*5000=20000	10400+2000=12400	116400/-



7110048/2023/H _i	EDN	ī. ,		1-J3/46/2023-HEDN 	(Computer No. 23631	[47]	
/110040/2023/11	EDI		Appearance 21)				**************************************
	4	Bill No.61 dated.05.03.202	W.P.(C) No.9340 of 2020 (No. of Appearance 20)	20*4000=80000	4*5000=20000	10000=2000=12000	112000/-
	5	Bill No.62 dated.05.03.2022	W.P.(C) No.7561 of 2020 (No. of Appearance :20)	80,000/-	4*5000=20,000	10,000+2000= 12,000	1,12,000/-
	6	Bill No.63 dated.05.03.2022	W.P.(C) No.8542 of 2020 (No. of Appearance :21)	21*4000=84,000	4*5000=20,000	10,400+2000=12,400	1,16,400/-
	7	Bill No.64 dated.05.03.2022	W.P.(C) No.8335 of 2020 (No. of Appearance :22)	22*4000=88,000	6*5000=30,000	11800+2000=13,800	1,31,800/-
	8	Bill No.65 dated.05.03.2022	W.P.(C) No.9247 of 2020 (No. of Appearance :21)	21*4000=84,000	4*5000=20,000	10,400+2000=12,400	1,16,400/-
	9	Bill No.66 dated.05.03.2022	W.P.(C) No.9151 of 2020 (No. of Appearance :21)	21*4000=84,000	4*5000=20,000	10,400+2000=12,400	1,16,400/-
	10	Bill No.67 dated.05.03.2022	W.P.(C) No.10919 of 2020 (No. of Appearance :21)	21*4000=84,000	2*5000=10,000	9400+2000=11,400	1,05,400/-
	11	Bill No.68 dated.05.03.2022	W.P.(C) No.8364 of 2020 (No. of	20*4000=80,000	4*5000=20,000	10,000+2000=12,000	1,12,000/-

				I-J3/46/2023-HEDN	(Computer No. 23631	47)	
7110048/2023/H	EDN		Appearance				***************************************
	***************************************		:20)				
	12	Bill No.69 dated.05.03.2022	W.P.(C) No.34396 of 2020 (No. of Appearance :14)	14*4000=56,000	2*5000=10,000	6,600+2000=86,00	74,600/-
	13	Bill No.70 dated.05.03.2022	W.P.(C) No.8305 of 2020 (No. of Appearance :21)	21*4000=84,000	4*5000=20,000	10,400+2000=12,400	1,16,400/-
	14	Bill No.71 dated.05.03.2022	W.P.(C) No.9342 of 2020 (No. of Appearance :21)	21*4000=84,000	4*5000=20,000	10,400+2000=12400	1,16,400/-
	15	Bill No.72 dated.05.03.2022	W.P.(C) No.9999 of 2020 (No. of Appearance :18)	18*4000=72,000	2*5000=10,000	8,200+2000=10,200	92,200/-
	16	Bill No.73 dated.05.03.2022	W.P.(C) No.2990 of 2022 (No. of Appearance :2)	2*4000=8000		800	8,800/-
	17	Bill No.74 dated.05.03.2022	W.P.(C) No.273 of 2022 (No. of Appearance :1)	1*4000=4000		400	4,400/-
		Sub To	tal	1172000	260000	171200	1,603,200/-

The details of the bills are verified with the details of case proceedings published in the website of Hon'ble High Court of Kerala and the sanction is therefore accorded for the drawal of Rs.1,603,200 (Rupees Sixteen Lakh Three Thousand and Two Hundred only) and payment of Rs.14,60,000/- (Rupees Fourteen Lakh and Sixty Thousand Only) to Adv. Elvin Peter, the Standing Counsel of the university, after deducting TDS of Rs.1,43,200/-(Rupees One Lakh Forty Three Thousand and Two Hundred Only) as per section (J) of Income Tax Act 1961.



7110048/2023/H EDN
The order has the approval of Hon'ble Vice Chancellor and expenditure regarding the same will be met from the Head of Account 'J-01-013 - Legal Expenses' provided in the University Budget.

Orders are issued accordingly.

Sd/-

Dr.A. Praveen * Registrar

Copy to:-

- 1. Accounts Section
- 2.Adv.Elvin Peter
- 2. KSAD

Forwarded / By Order

Section Officer

* This is a computer system (Digital File) generated letter. Hence there is no need for a physical signature.



Details of amount released to Adv.Krishnamoorthy, Standing Counsel of the University

	Offiversity							
U.O.Number	Date of Order	Amount claimed	Amount sanctioned after deduction of Tax amount					
KTU/A/58/2015	05.05.2015	6476	6,076					
KTU/A/58/2015	07.08.2015	6476	6,076					
KTU/A/58/2015	24.10.2015	4,700	4,700					
KTU/A/58/2015	13.11.2015	28000	25,200					
KTU/A/58/2015	27.10.2016	74700	67230					
KTU/A/58/2015	04.11.2016	19000	17100					
KTU/A/58/2015	19.12.2016	19000	17100					
KTU/A/58/2015	10.06.2016	24000	21,600					
KTU/A/58/2015	31.08.2016	6900	6210					
KTU/A/58/2015	13.10.2016	86500	77850					
: KTU/A/58/2015	21.02.2017	20,800	18,720					
KTU/A/58/2015	22.03.2017	60900	54810					
KTU/A/58/2015	02.06.2017	86800	78,120					
KTU/A/58/2015	27.06.2017	70,000	63,000					
KTU/A/58/2015	23.08.2017	134,400	120,960					
KTU/A/58/2015	09.11.2017	114600	103,140					
KTU/A/58/2015	07.12.2017	142,000	127,800					
KTU/A/58/2015	30.03.2018	44,100	39,690					
KTU/A/58/2015	30.03.2018	79,450	71,505					
KTU/A/58/2015	03.10.2018	93900	84510					
KTU/A/58/2015	27.10.2018	34900	34900					
KTU/A/58/2015	27.03.2019	207100	186390					

Total Amount released

Rs.1232687

ക്രമ നം	അനുവദിച്ച ഇക	ഉത്തരവ് നമ്പർ	തീയതി	റിമാർക്സ്
1	₹ 29,419 /-	U.O.No. 1694/2020/KTU dated:06.12.2020	17.08.2020 to 10.09.2020	
2	₹ 26,667	U.O.No. 1532/2020/KTU: 08.11.2020	11.09.2020 to 30.09.2020	
3	₹ 40,000/-	U.O.No. 1532/2020/KTU	October 2020	
4	₹ 40,000/-	U.O.No. 1695/2020/KTU06.12.2020	November 2020	
5	₹ 40,000/-	U.O.No. 17/2021/KTU dated:05.01.2021	December 2020	
6	₹ 40,000/-	U.O.No. 255/2021/KTU 10.02.2021	January 2021	
7	₹ 47,000/-	U.O.No. 256/2021/KTU Dated: 10.02.2021		Professional Charges of Advocate G Jyothichudan Counsel of the University in Lok Ayukta -

8	₹ 40,000/-	U.O.No. 405/2021/KTU, Dated: 05.03.2021	Remuneration February 2021	
9	1,20,000/-	U.O.No. 431/2021/KTU dated:08.03.2021		For reviewing the suggestions received regarding periodic amendments to the APJ Abdul Kalam Technological University Act
10	₹ 40,000/-	U.O.No. 633/2021/KTU Dated: 15.04.2021	March 2021	
11	₹ 40,000/-	U.O.No. 725/2021/KTU Dated: 01.05.2021	April 2021	
12	₹ 40,000/-	U.O.No. 828/2021/KTU Dated: 28.05.2021	May 2021	
13	₹ 40,000/-	U.O.No. 1024/2021/KTU Dated: 01.07.2021	June 2021	
14	₹ 40,000/-	U.O.No. 1188/2021/KTU, Dated: 02.08.2021	July 2021	

15	₹ 40,000/-	U.O.No. 1360/2021/KTU Dated: 02.09.2021	August 2021	
16	₹ 40,000/-	U.O.No. 1551/2021/KTU Dated: 01.10.2021	September 2021	
17	₹ 40,000/-	1	November 2021	
18	₹ 75,000/-	U.O.No. 10/2022/KTU Dated: 02.01.2022	December 2021	Full time legal and Service consultant U.O.No. 9/2022/KTU Dated: 02.01.2022
19	₹ 75,000/-	U.O.No. 205/2022/KTU Dated: 04.02.2022	January 2022	
20	₹ 75,000/-	U.O.No. 420/2022/KTU Dated: 02.03.2022	February 2022	
21	₹ 75,000/-	U.O.No. 795/2022/KTU Dated: 03.04.2022	March 2022	
22	₹ 75,000/-	U.O.No. 1010/2022/KTU Dated: 02.05.2022	April 2022	

23	₹ 75,000/-	U.O.No. 1292/2022/KTU Dated: 01.06.2022	May 2022
24	₹ 75,000/-	U.O.No. 1569/2022/KTU Dated: 01.07.2022	June 2022
25	₹ 75,000/-	U.O.No. 1810/2022/KTU Dated: 01.08.2022	July 2022
26	₹ 75,000/-	U.O.No. 2147/2022/KTU Dated: 01.09.2022	August 2022
27	₹ 75,000/-	U.O.No. 2464/2022/KTU Dated: 02.10.2022	September 2022
28	₹ 75,000/-	U.O.No. 2747/2022/KTU Dated: 01.11.2022	October 2022
29	₹ 75,000/-	U.O.No. 2941/2022/KTU Dated: 02.12.2022	November 2022
30	₹ 75,000/-	U.O.No. 25/2023/KTU Dated: 04.01.2023	December 2022

31 ₹ 75	U.O.No. 264/2023/KTU, Dated: 01.02.2023	January 2023	
---------	--	--------------	--